2 TEHRE=FVUIJHEE
(% & B R )
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=2V 7RG  (RIEA ISR LW a1 RS 53 1) (BAZ s mg/L)

X HT 44 tEm INRTH
AR = —R 202 203

Hi1 X 44 A I ET T XM

X 5 0230 0040

HFH = 000100 002000

PR (m) 6.0 30.0

ARG AT EHF RFF

&KX Sy T Dth IXEAK

PROKAEH H R2.8.18 R2.12.2 R2.9.1 R2.12.17

AKIE(C) 18.0 14.5 19.5 17.0

HAUAE R (mS/m) 14.7 13.3 19.7 20.3

pH 6.2 6.0 AR A 7.0 1.2 GRSl
D4=1=y Y 8 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
Du Ak R 3 < 0.0002 |< 0.0002 (< 0.0002 (< 0.0002 |< 0.0002 < 0.0002
VA=1= = N < 0.0002 |< 0.0002 [<0.0002 |[<0.0002 [<0.0002 [<0.0002
1,2->7unx iy < 0.0004 |< 0.0004 (< 0.0004 |[< 0.0004 [<0.0004 [<0.0004
1,1-Y/uoxFL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/uuxFL < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
L1L,1-’)yanxziy < 0.0005 |< 0.0005 [<0.0005 |[< 0.0005 [<0.0005 [<0.0005
1,1,2-’)runxiy < 0.0006 |< 0.0006 |< 0.0006 [< 0.0006 [< 0.0006 (< 0.0006
KN ZaaxFL < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
FhF/aazFL < 0.0005 |< 0.0005 |< 0.0005 0. 0005 0. 0009 0. 0007
T X TR 4 INATH INATH

i KA ff = —R 203 203

Hit X 44 FriEHET FriEHET

X 5 0350 0350

e 001300 001400

FE PR (m) 40.0 54.0

AT RIP RIFP

FHRX Sy TERK TERK

PRKGEH R R2.9.1 R2.12.17 R2.9.1 R2.12.17

AKIE(C) 17.8 17.0 21.5 16.5

s (nS/m) 14.7 18.8 15.5 16.4

pH 6.3 5.9 AR A 5.9 5.6 AR A
JranRrgys < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
DUk R 3R < 0.0002 |< 0.0002 (< 0.0002 (< 0.0002 |< 0.0002 < 0.0002
VA== R < 0.0002 |< 0.0002 [<0.0002 |[< 0.0002 (< 0.0002 [<0.0002
1,2-Y7aax iy < 0.0004 |< 0.0004 < 0.0004 |[< 0.0004 [<0.0004 [< 0.0004
1,1-Y/uaxFL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/uuxF L < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
LLI-NZuoxzg < 0.0005 |< 0.0005 [< 0.0005 |[< 0.0005 (< 0.0005 [< 0.0005
LL,2-NZuoxzg < 0.0006 |< 0.0006 |< 0.0006 |[< 0.0006 [< 0.0006 [< 0.0006
KNZooxFL 0. 001 0.002 0. 002 < 0.001 < 0.001 < 0.001
FhIrmaTFL < 0.0005 |< 0.0005 [< 0.0005 |[< 0.0005 (< 0.0005 [< 0.0005
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TEWIE =5V 7 J A (ko B B0

(G MEA AL E W )1 R 52 552)

(HAT :mg/L)

T XHTA 44 INRTH INRTH
AR = —R 203 203

Hi1 X 44 & iTHT KA ET

X 5 0490 0670

HFH = 000900 000100

PR (m) 40.0 45.0

e R B B8

&KX Sy T Dth TERK

PROKAEH H R2.8.25 | R2.12. 21 R2.9.1 R2.12.17

AKIE(C) 17.5 12.5 20.0 16.9

HAUAE R (mS/m) 16.9 16.7 49.4 48.2

pH 6.1 6.1 AR A 1.7 8.2 GRSl
DA=1=y Y 0 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
Pu Ak R 3R < 0.0002 |< 0.0002 (< 0.0002 (< 0.0002 |< 0.0002 < 0.0002
VA== N < 0.0002 |< 0.0002 |< 0.0002 0. 0009 0. 0007 0. 0008
1,2->7unx i < 0.0004 |< 0.0004 (< 0.0004 |[< 0.0004 [<0.0004 [<0.0004
1,1-Y/uoxFL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/uuxF L < 0.004 < 0.004 < 0.004 0.016 0.012 0.014
L,1,1-’)yuaxiy < 0.0005 |< 0.0005 [<0.0005 |[< 0.0005 [<0.0005 [< 0.0005
1,1,2-’)runxiy < 0.0006 |< 0.0006 < 0.0006 [< 0.0006 [< 0.0006 [< 0.0006
[N =i=8 2 P < 0.001 < 0.001 < 0.001 0. 001 0. 001 0. 001
FhFraaxzFL < 0.0005 |< 0.0005 |< 0.0005 0. 0031 0.0030 0. 0031
T X HETA 4 WE™ WE™

XA A2 —R 204 204

Hi1 X 44 SA] FEHT SA] FEHT

X 5 0010 0010

= 000130 000140

FE R (m) 3.0 5.0

e R EHP EHPE

JHIEIX 5y AKX AFEAK

PRKAEH A R2.7.30 | R2.12.15 R2.7.30 | R2.12.15

AKIE(C) 18.5 10.8 16.0 13.1

s (nS/m) 32.8 35.9 21.8 22.6

pH 6.9 7.1 AR A 7.0 6.9 A A
JranRrzy < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
UGk 3R < 0.0002 |<0.0002 (< 0.0002 (< 0.0002 |< 0.0002 < 0.0002
VA=1= R < 0.0002 |< 0.0002 |<0.0002 |[< 0.0002 (< 0.0002 [<0.0002
1,2-Y7aax iy < 0.0004 |< 0.0004 (< 0.0004 |[< 0.0004 [<0.0004 [< 0.0004
1,1-Y/uaxFL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/uuxF L < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
LLI-NZuoxzg < 0.0005 |< 0.0005 [< 0.0005 |[< 0.0005 (< 0.0005 [< 0.0005
LL,2-NZuoxzg < 0.0006 |< 0.0006 |< 0.0006 [< 0.0006 [< 0.0006 (< 0.0006
KNZooxFL < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
FhIrmaFL 0. 0009 0. 0007 0. 0008 0. 0039 0.0037 0.0038
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EWE =2V 7 AR GERBIEABEEE SR LM a1 R FEHE533) (HAAT :mg/L)
T XHTA 44 mET FIVET
AR = —R 206 207
Hi1 X 44 IR R WIS ET
X 5 0490 0030
HFH = 000300 000500
PR (m) ~BH 10.0
e R B EHF
&KX Sy — %8R T Dth
PROKAEH H R2.8.6 R2.12.10 R2.8.6 R2.12.1
AKIE(C) 18.8 16.9 16.5 15.5
HAUAE R (mS/m) 19.2 17.9 46. 3 43.3
pH 5.8 5.7 AR A 6.5 6.5 G IR ELE
DA=1=y Y 0 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
Pu Ak R 3R < 0.0002 |< 0.0002 (< 0.0002 (< 0.0002 |< 0.0002 < 0.0002
VA== N < 0.0002 |< 0.0002 |< 0.0002 0.023 0.014 0.019
1,2->7unx i < 0.0004 |< 0.0004 (< 0.0004 |[< 0.0004 [<0.0004 [<0.0004
1,1-Y/uoxFL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/uuxF L < 0.004 < 0.004 < 0.004 0. 004 < 0.004 0.004
L,1,1-’)yuaxiy < 0.0005 |< 0.0005 [<0.0005 |[< 0.0005 [<0.0005 [< 0.0005
1,1,2-’)runxiy < 0.0006 |< 0.0006 < 0.0006 [< 0.0006 [< 0.0006 [< 0.0006
[N =i=8 2 P < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
FhFraaxzFL 0.0010 0. 0008 0.0009 |< 0.0005 (< 0.0005 [< 0.0005
T X HETA 4 FIVET B
XA A2 —R 207 210
Hi1 X 44 RAMT = oK i T
X 5 0070 0030
= 000400 000400
FE R (m) 40.0 100.0
e R RFF RIP
JHIEIX 5y ZDih — % Ex A
PRKAEH A R2.8.6 R2.12.1 R2.7.20 | R2.12.17
AKIE(C) 22.0 12.8 17.0 12.9
s (nS/m) 35.7 35.3 22.6 20.2
pH 8.0 8.0 AR A 6.9 6.9 AR A
JranRrzy < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
UGk 3R < 0.0002 |< 0.0002 (< 0.0002 (< 0.0002 |< 0.0002 < 0.0002
VA=1= R < 0.0002 |< 0.0002 [< 0.0002 |[< 0.0002 (< 0.0002 [<0.0002
1,2-Y7aax iy < 0.0004 |< 0.0004 < 0.0004 |[< 0.0004 [<0.0004 [< 0.0004
1,1-Y/uaxFL 0.004 0.002 0.003 < 0.002 < 0.002 < 0.002
1,2-Y/uuxF L < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
LLI-NZuoxzg < 0.0005 |< 0.0005 [< 0.0005 |[< 0.0005 (< 0.0005 [< 0.0005
LL,2-NZuoxzg < 0.0006 |< 0.0006 < 0.0006 |[< 0.0006 [< 0.0006 [< 0.0006
KNZooxFL < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
FhIrmaFL < 0.0005 |< 0.0005 [< 0.0005 |[< 0.0005 [< 0.0005 [< 0.0005
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=2V 7RG  (RIEA ISR (LS 1 R S 53 4) (BAfi7 :mg/L)

T XHTA 44 B B

AR = —R 210 210

X 44 = ok T = BRET

X 5 0030 0040

HFH = 000500 000100

PR (m) 40.0 85.0

e R RFF RFF

&KX Sy — %8R — B8R

PROKAEH H R2.7.20 | R2.12. 11 R2.7.30 | R2.12.14

AKIE(C) 17.5 14.8 14.8 14.0

HAUAE R (mS/m) 23.2 20.2 22.6 23.5

pH 6.6 6.7 AR A 6.5 6.9 GRSl
DA=1=y Y 0 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
Pu Ak R 3R < 0.0002 |< 0.0002 (< 0.0002 (< 0.0002 |< 0.0002 < 0.0002
VA== N < 0.0002 |< 0.0002 [<0.0002 |[<0.0002 [<0.0002 [<0.0002
1,2->7unx i < 0.0004 |< 0.0004 (< 0.0004 |[< 0.0004 [<0.0004 [<0.0004
1,1-Y/uoxFL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/uuxF L < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
L,1,1-’)yuaxiy < 0.0005 |< 0.0005 (< 0.0005 0.0014 0.0014 0.0014
1,1,2-’)runxiy < 0.0006 |< 0.0006 |< 0.0006 [< 0.0006 [< 0.0006 (< 0.0006
[N =i=8 2 P < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
FhFraaxzFL 0.0015 0.0014 0.0015 0. 0005 0. 0005 0. 0005
T X HETA 4 B B

XA A2 —R 210 210

Hi1 X 44 #rHHT = K BT

X 5 0100 0120

= 000200 000600

FE R (m) 130.0 100.0

e R A RFP

JHIEIX 5y TEAK AFEAK

PRKAEH A R2.7.20 | R2.12.17 R2.7.20 | R2.12.17

AKIE(C) 28.0 6.9 23. 4 13.3

s (nS/m) 24.0 25.3 24.8 24.5

pH 1.2 7.0 AR A 6.6 6.6 AR A
JranRrzy < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
UGk 3R < 0.0002 |< 0.0002 (< 0.0002 (< 0.0002 |< 0.0002 < 0.0002
VA=1= R < 0.0002 |< 0.0002 [< 0.0002 |[< 0.0002 (< 0.0002 [<0.0002
1,2-Y7aax iy < 0.0004 |< 0.0004 < 0.0004 |[< 0.0004 [<0.0004 [< 0.0004
1,1-Y/uaxFL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/uuxF L < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
LLI-NZuoxzg < 0.0005 |< 0.0005 (< 0.0005 0.0016 0.0018 0.0017
LL,2-NZuoxzg < 0.0006 |< 0.0006 < 0.0006 |[< 0.0006 [< 0.0006 [< 0.0006
KNZooxFL < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
FhIrmaFL 0. 0005 0. 0008 0. 0007 0. 0009 0. 0009 0. 0009
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EME=2) 7 AR S)  (FEREA R ZE A A ) S 575) (BT me/L)
X HT 44 B B
AR = —R 210 210
X 44 = K BT = K #THT
X 5 0120 0130
HFH = 000700 000500
PR (m) 80.0 Z~BH
ARG AT ;) RFF
&KX Sy AEERAK — % B8R
PROKAEH H R2.7.22 | R2.12.17 R2.7.22 | R2.12.15
K (C) 21.6 14.2 18.6 11.4
HAUAE R (mS/m) 24.0 24.7 22.6 22.7
pH 6.4 6.3 AR A 6.4 7.0 GRSl
DA=1=y Y 0 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
Pu Ak R 3R < 0.0002 |< 0.0002 (< 0.0002 (< 0.0002 |< 0.0002 < 0.0002
VA== N < 0.0002 |< 0.0002 [<0.0002 |[<0.0002 [<0.0002 [<0.0002
1,2->7unx i < 0.0004 |< 0.0004 (< 0.0004 |[< 0.0004 [<0.0004 [<0.0004
1,1-Y/uoxFL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/uuxF L < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
L,1,1-’)yuaxiy 0.0016 0. 0009 0.0013 |< 0.0005 (< 0.0005 [< 0.0005
1,1,2-’)runxiy < 0.0006 |< 0.0006 < 0.0006 [< 0.0006 [< 0.0006 [< 0.0006
[N/ 4=i=tet 8 % < 0.001 < 0.001 < 0.001 0. 001 0. 001 0. 001
FhFraaxzFL 0.0008 < 0.0005 0.0007 |< 0.0005 (< 0.0005 (< 0.0005
T X TR 4 Bl Bl
i KA ff = —R 210 210
Hi1 X 44 A8 )11 HrET A8 )11 HrET
X 5 0330 0330
= 000300 000400
FE R (m) 80 40
AT BH )
FHRX Sy — R ER A — R ER A
PRKGEH R R2.7.30 | R2.12.14 R2.7.30 | R2.12.15
AKIE(C) 15.0 11.3 15.6 15.2
s (nS/m) 23.6 24.6 23.1 23.7
pH 7.1 7.5 AR A 6.4 6.6 A A
JranRrzy < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
DUk R 3R < 0.0002 |< 0.0002 (< 0.0002 (< 0.0002 |< 0.0002 < 0.0002
VA=1= R < 0.0002 |< 0.0002 |<0.0002 |[< 0.0002 (< 0.0002 [<0.0002
1,2-Y7aax iy < 0.0004 |< 0.0004 < 0.0004 |[< 0.0004 [<0.0004 [< 0.0004
1,1-Y/uaxFL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/uuxF L < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
LLI-NZuoxzg < 0.0005 |< 0.0005 [< 0.0005 |[< 0.0005 (< 0.0005 [< 0.0005
LL,2-NZuoxzg < 0.0006 |< 0.0006 |< 0.0006 [< 0.0006 [< 0.0006 [< 0.0006
KNZooxFL < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
FhIrmaFL < 0.0005 |< 0.0005 |< 0.0005 0.0010 0.0011 0.0011
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TEWT =27 A (i

B

(e ME AR LB )1 R 52 576)

(HAT :mg/L)

X HT 44 B B

AR = —R 210 210

Hi1 X 44 81137 BT 81137 BT

X 5 0330 0330

HFH = 000500 000600

PR (m) 110 40

ARG AT B B8

&KX Sy — %8R IXEAK

PROKAEH H R2.7.30 | R2.12.14 R2.7.30 | R2.12.15

AKIE(C) 15.3 12. 4 15.4 14.9

HAUAE R (mS/m) 23.7 25.6 25.3 21.0

pH 7.1 7.3 AR A 6.5 1.2 GRSl
DA=1=y Y 0 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
Pu Ak R 3R < 0.0002 |< 0.0002 (< 0.0002 (< 0.0002 |< 0.0002 < 0.0002
VA== N < 0.0002 |< 0.0002 [<0.0002 |[<0.0002 [<0.0002 [<0.0002
1,2->7unx i < 0.0004 |< 0.0004 (< 0.0004 |[< 0.0004 [<0.0004 [<0.0004
1,1-Y/uoxFL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/uuxF L < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
L,1,1-’)yuaxiy < 0.0005 |< 0.0005 [<0.0005 |[< 0.0005 [<0.0005 [< 0.0005
1,1,2-’)runxiy < 0.0006 |< 0.0006 |< 0.0006 [< 0.0006 [< 0.0006 (< 0.0006
[N =i=8 2 P < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
FhFraaxzFL 0. 0006 0. 0005 0. 0006 0. 0009 0. 0009 0. 0009
T X TR 4 Bl Bl

i KA ff = —R 210 210

X 44 T HAET T RN ET

X 5 0380 0380

= 000100 000500

FE R (m) 80.0 50.0

AT RIP )

JHIEIX 5y JKIE KR AFEAK

PRKGEH R R2.7.20 | R2.12. 11 R2.7.20 | R2.12.17

AKIE(C) 16.4 14.5 19.0 12.5

s (nS/m) 24.2 23.1 23.5 25.0

pH 6.5 6.7 AR A 6.4 6.4 A A
JranRrzy < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
DUk R 3R < 0.0002 |< 0.0002 (< 0.0002 (< 0.0002 |< 0.0002 < 0.0002
VA=1= R < 0.0002 |< 0.0002 |< 0.0002 |[< 0.0002 (< 0.0002 [<0.0002
1,2-Y7aax iy < 0.0004 |< 0.0004 < 0.0004 |[< 0.0004 [<0.0004 [< 0.0004
1,1-Y/uaxFL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/uuxF L < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
LLI-NZuoxzg < 0.0005 |< 0.0005 (< 0.0005 0.0011 0.0012 0.0012
LL,2-NZuoxzg < 0.0006 |< 0.0006 |< 0.0006 |[< 0.0006 [< 0.0006 [< 0.0006
KNZooxFL < 0.001 < 0.001 < 0.001 0. 001 < 0.001 < 0.001
FhIrmaFL < 0.0005 |< 0.0005 |< 0.0005 0.0012 0.0013 0.0013
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TEWT =27 A (i

(R MEA A B RSN 55 T)

(HAT :mg/L)

T XHTA 44 B B

AR = —R 210 210

X 44 T HAET T HAHT

X 5 0380 0380

HFH = 000600 000700

PR (m) 50.0 70.0

ARG AT B ]

&KX Sy T Dth AEEAK

PROKAEH H R2.7.20 | R2.12. 11 R2.7.20 | R2.12.11

AKIE(C) 16.9 13.2 24.6 11.2

HAUAE R (mS/m) 23.2 22.6 23. 4 23.2

pH 6.5 6.6 AR A 6.5 7.0 GRSl
DA=1=y Y 0 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
Pu Ak R 3R < 0.0002 [< 0.0002 (< 0.0002 (< 0.0002 |< 0.0002 < 0.0002
VA== N < 0.0002 |< 0.0002 [<0.0002 |[<0.0002 [<0.0002 [<0.0002
1,2->7unx i < 0.0004 |< 0.0004 (< 0.0004 |[< 0.0004 [<0.0004 [<0.0004
1,1-Y/uoxFL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/uuxF L < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
L,1,1-’)yuaxiy < 0.0005 |< 0.0005 [<0.0005 |[< 0.0005 [<0.0005 (< 0.0005
1,1,2-’)runxiy < 0.0006 |< 0.0006 |< 0.0006 |[< 0.0006 [< 0.0006 [< 0.0006
[N =i=8 2 P < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
FhFraaxzFL 0.0011 0. 0009 0.0010 0.0010 0.0011 0.0011
T X HETA 4 B B

i KA ff = —R 210 210

X 44 T HAET T RN ET

X 5 0380 0380

= 000800 000900

7 R (m) 49.0 P N:

e R BH N

JHIEIX 5y — %8R A ZDith

PRKAEH A R2.7.20 | R2.12. 11 R2.7.30 | R2.12.14

AKIE(C) 23.5 12.8 15.5 13.0

s (nS/m) 22.5 22.9 22.5 23.7

pH 6.5 6.8 AR A 6.4 7.3 AR A
JranRrzy < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
UGk 3R < 0.0002 |< 0.0002 (< 0.0002 (< 0.0002 |< 0.0002 < 0.0002
VA=1= R < 0.0002 |< 0.0002 [< 0.0002 |[< 0.0002 (< 0.0002 [<0.0002
1,2-Y7aax iy < 0.0004 |< 0.0004 < 0.0004 |[< 0.0004 [<0.0004 [< 0.0004
1,1-Y/uaxFL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/uuxF L < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
LLI-NZuoxzg < 0.0005 |< 0.0005 [< 0.0005 |[< 0.0005 (< 0.0005 [< 0.0005
LL,2-NZuoxzg < 0.0006 |< 0.0006 < 0.0006 |[< 0.0006 [< 0.0006 [< 0.0006
KNZooxFL < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
FhIrmaFL 0. 0009 0. 0009 0. 0009 0. 0008 0. 0008 0. 0008
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TEWT =27 A (i

(I MEA A LB )1 R 52 578)

(HAT :mg/L)

X HT 44 B B

AR = —R 210 210

X 44 T HAET T HAHT

X 5 0380 0380

HFH = 001000 001100

PR (m) 120.7 138.0

ARG AT B ]

&KX Sy — %8R — %8R

PROKAEH H R2.7.30 | R2.12.15 R2.7.30 | R2.12.15

AKIE(C) 14.5 14.1 14.5 14.4

HAUAE R (mS/m) 25.0 25.0 24. 4 25.9

pH 6.6 7.0 AR A 6.7 7.0 GRSl
DA=1=y Y 0 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
Pu Ak R 3R < 0.0002 |< 0.0002 (< 0.0002 (< 0.0002 |< 0.0002 < 0.0002
VA== N < 0.0002 |< 0.0002 [<0.0002 |[<0.0002 [<0.0002 [<0.0002
1,2->7unx i < 0.0004 |< 0.0004 (< 0.0004 |[< 0.0004 [<0.0004 [<0.0004
1,1-Y/uoxFL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/uuxF L < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
L,1,1-’)yuaxiy < 0.0005 |< 0.0005 (< 0.0005 0. 0005 0. 0006 0. 0006
1,1,2-’)runxiy < 0.0006 |< 0.0006 < 0.0006 [< 0.0006 [< 0.0006 (< 0.0006
[N =i=8 2 P < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
FhFraaxzFL 0. 0007 0.0010 0. 0009 0. 0008 0.0011 0.0010
T X TR 4 Bl Bl

i KA ff = —R 210 210

X 44 T HAET T RN ET

X 5 0380 0380

= 001200 001300

FE R (m) 80.0 80.0

AT BH N

JHIEIX 5y AEEAK AKX

PRKGEH R R2.7.20 | R2.12.17 R2.7.20 | R2.12.17

AKIE(C) 19.5 11.7 15.5 11.8

s (nS/m) 22.3 23.7 23.3 24.7

pH 6.8 6.6 AR A 6.6 6.6 AR A
JranRrzy < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
DUk R 3R < 0.0002 |< 0.0002 (< 0.0002 (< 0.0002 |< 0.0002 < 0.0002
VA=1= R < 0.0002 |< 0.0002 [< 0.0002 |[< 0.0002 (< 0.0002 [<0.0002
1,2-Y7aax iy < 0.0004 |< 0.0004 < 0.0004 |[< 0.0004 [<0.0004 [< 0.0004
1,1-Y/uaxFL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/uuxF L < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
LLI-NZuoxzg < 0.0005 |< 0.0005 [< 0.0005 |[< 0.0005 (< 0.0005 [< 0.0005
LL,2-NZuoxzg < 0.0006 |< 0.0006 < 0.0006 |[< 0.0006 [< 0.0006 [< 0.0006
KNZooxFL < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
FhIrmaFL 0. 0009 0. 0009 0. 0009 0. 0007 0. 0007 0. 0007
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=2V 7RG  (RIEA RIS LW )1 R S 539) (BAfi7 :mg/L)

T XHTA 44 B Bt

AR = —R 210 210

X 44 T HAET #8)11ET

X 5 0380 0430

H A% 001400 000300

PR (m) 141.0 51

e R B B8

FHIEIX 5y IXAK — A

PROKAEH H R2.7.20 | R2.12.15 R2.7.30 | R2.12.14

KIRCC) 15.5 14.5 16.4 13.5

HRRE S (mS/m) 25.3 23.8 22.2 23. 4

pH 6.8 7.6 AR A 6.4 6.8 GRSl
D g=i=3 8 8% < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
DU bR < 0.0002 |< 0.0002 (< 0.0002 (< 0.0002 |< 0.0002 < 0.0002
rapxzFL < 0.0002 |< 0.0002 [<0.0002 |[<0.0002 [<0.0002 [<0.0002
1,2->7unx i < 0.0004 |< 0.0004 (< 0.0004 |[< 0.0004 [<0.0004 [<0.0004
1,1-Y7unxzFlL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y7unxzFL < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
L,1,1-’)yuaxiy < 0.0005 |< 0.0005 [<0.0005 |[< 0.0005 [<0.0005 [< 0.0005
1,1,2-’)runxiy < 0.0006 |< 0.0006 |< 0.0006 [< 0.0006 [< 0.0006 (< 0.0006
[N =i=8 2 P < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
FhIr/auTFL 0. 0006 0. 0007 0. 0007 0.0019 0.0023 0. 0021
T X HETA 4 B B

XA A2 —R 210 210

Hi1 X 44 18 L HT R

X 5 0440 0480

H A% 000100 000100

FE R (m) 60.0 100.0

e R RFF RFF

FHIERIX Sy TXAK IXAK

PRKAEH A R2.7.22 | R2.12.17 R2.7.22 | R2.12.15

ZKIRCC) 14.7 14.2 23.0 11.9

XU (mS/m) 24.3 22.3 25.7 22.0

pH 6.5 6.3 AR A 6.8 1.2 A A
4=1=33 04 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
UGk 3R < 0.0002 |<0.0002 (< 0.0002 (< 0.0002 |< 0.0002 < 0.0002
rapxzFL < 0.0002 |< 0.0002 |<0.0002 |[< 0.0002 (< 0.0002 [<0.0002
1,2-Y7aax iy < 0.0004 |< 0.0004 (< 0.0004 |[< 0.0004 [<0.0004 [< 0.0004
L1-YZunxzFlLy < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
L,2-Y7unxTFlL < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
LLI-NZuoxzg < 0.0005 |< 0.0005 [< 0.0005 |[< 0.0005 (< 0.0005 [< 0.0005
LL,2-NZuoxzg < 0.0006 |< 0.0006 |< 0.0006 [< 0.0006 [< 0.0006 (< 0.0006
KNZooxFL < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
FhIr/auTFL 0. 0008 0. 0007 0. 0008 0.0006 |< 0.0005 0. 0006
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TEWT =27 A (i

(R MEA A LB )1 RS 57 10)

(HAT :mg/L)

T XHTA 44 B B

AR = —R 210 210

Hi1 X 44 EE % FEIET

X 5 0480 0540

HFH = 000600 000200

PR (m) A 80.0

e R B B8

&KX Sy T Dth — %8R

PROKAEH H R2.7.22 | R2.12.15 R2.7.30 | R2.12. 11

KIRCC) 24.0 6.5 17.5 14.2

HAUAE R (mS/m) 26.0 24.5 17.5 19.1

pH 7.0 1.4 AR A 1.2 7.0 GRSl
D g=i=3 8 8% < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
DU bR < 0.0002 |< 0.0002 (< 0.0002 (< 0.0002 |< 0.0002 < 0.0002
VA=1=8 o < 0.0002 |< 0.0002 (< 0.0002 (< 0.0002 |< 0.0002 < 0.0002
1,2->7unx i < 0.0004 [< 0.0004 (< 0.0004 (< 0.0004 |< 0.0004 (< 0.0004
L1-YZunxFlL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
L,2-Y7unxFlL < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
L,1,1-’)yuaxiy < 0.0005 [< 0.0005 (< 0.0005 (< 0.0005 |< 0.0005 < 0.0005
1,1,2-’)runxiy < 0.0006 |< 0.0006 (< 0.0006 (< 0.0006 |< 0.0006 < 0.0006
[N =i=8 2 P < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
FhZ/oaxFL 0. 0006 0. 0005 0.0006 |< 0.0005 (< 0.0005 (< 0.0005
T X HETA 4 B B

XA A2 —R 210 210

X 44 5 FE T 5 FE T

X 5 0540 0540

= 000300 000400

FE R (m) 50.0 60.0

e R A B

JHIEIX 5y — % Ex A IKE KR

PRKAEH A R2.7.30 | R2.12. 11 R2.7.30 | R2.12. 11

ZKIRCC) 14.6 13.5 19.1 10.0

s (nS/m) 17.8 17.5 19.1 18.0

pH 6.5 7.1 AR A 6.8 6.9 A A
4=1=53 04 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
UGk 3R < 0.0002 |<0.0002 (< 0.0002 (< 0.0002 |< 0.0002 < 0.0002
VA=1= s o < 0.0002 |< 0.0002 (< 0.0002 (< 0.0002 |< 0.0002 < 0.0002
12— unx i < 0.0004 [< 0.0004 (< 0.0004 (< 0.0004 |< 0.0004 < 0.0004
L1-YZupxFlL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
L,2-Y7upnxFL < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
LLI-NZuoxzg < 0.0005 [< 0.0005 (< 0.0005 (< 0.0005 |< 0.0005 < 0.0005
LL,2-NZuoxzg < 0.0006 |< 0.0006 (< 0.0006 (< 0.0006 |< 0.0006 < 0.0006
KNZooxFL < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
FhZroaxFL 0. 0005 0. 0005 0.0005 |< 0.0005 (< 0.0005 (< 0.0005
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TEWT =27 A (i

(G PEA A LB RSN 57 11)

(HAT :mg/L)

X HT 44 B B

AR = —R 210 210

Hi1 X 44 J\H Fr ET 1 H T

X 5 0650 0660

HFH = 000100 000100

PR (m) ~BH 100

ARG AT B B8

&KX Sy — %8R — %8R

PROKAEH H R2.7.22 | R2.12.15 R2.7.30 | R2.12.14

AKIE(C) 16. 6 15.6 15.0 13.5

HAUAE R (mS/m) 22.5 22.1 21.4 23.5

pH 6.4 6.9 AR A 6.5 6.7 GRSl
DA=1=y Y 0 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
Pu Ak R 3R < 0.0002 [< 0.0002 (< 0.0002 (< 0.0002 |< 0.0002 < 0.0002
VA== N < 0.0002 |< 0.0002 [<0.0002 |[<0.0002 [<0.0002 [<0.0002
1,2->7unx i < 0.0004 |< 0.0004 (< 0.0004 |[< 0.0004 [<0.0004 [<0.0004
1,1-Y/uoxFL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/uuxF L < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
L,1,1-’)yuaxiy < 0.0005 |< 0.0005 [<0.0005 |[< 0.0005 [<0.0005 (< 0.0005
1,1,2-’)runxiy < 0.0006 |< 0.0006 |< 0.0006 |[< 0.0006 [< 0.0006 [< 0.0006
[N/ 4=i=tet 8 % 0. 001 0. 001 0. 001 < 0.001 < 0.001 < 0.001
FhFraaxzFL < 0.0005 |< 0.0005 |< 0.0005 0. 0008 0. 0008 0. 0008
T X TR 4 Famm Fammh

i KA ff = —R 212 212

X 44 FHEF g

X 5 0010 0020

= 000400 000100

FE R (m) 100 50.0

AT RIP RFP

JHIEIX 5y — R ER A AERAK

PRKGEH R R2.7.29 R2.12.1 R2.7.29 R2.12.1

AKIE(C) 17.0 10.7 23.8 14.6

s (nS/m) 17.4 19.4 20.2 20.0

pH 6.4 6.3 AR A 6.6 6.7 AR A
JranRrzy < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
DUk R 3R < 0.0002 |< 0.0002 (< 0.0002 (< 0.0002 |< 0.0002 < 0.0002
VA=1= R < 0.0002 |< 0.0002 [< 0.0002 |[< 0.0002 (< 0.0002 [<0.0002
1,2-Y7aax iy < 0.0004 |< 0.0004 < 0.0004 |[< 0.0004 [<0.0004 [< 0.0004
1,1-Y/uaxFL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/uuxF L < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
LLI-NZuoxzg < 0.0005 |< 0.0005 [< 0.0005 |[< 0.0005 (< 0.0005 [< 0.0005
LL,2-NZuoxzg < 0.0006 |< 0.0006 < 0.0006 |[< 0.0006 [< 0.0006 [< 0.0006
KNZooxFL < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
FhIrmaFL 0. 0007 0. 0006 0. 0007 0.0012 0. 0009 0.0011
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EME=2U 7 IEfRR RS  GHEIEMEAE R (A A IR ER 7 12) (HAZ :mg/L)
T XHTA 44 Famm R TEET
X R = —R 212 361
Hi1 X A (32 AH
HP = 0040 0010
H A% 000100 001000
G (m) 30.0 130.0
&I FHFE EHFE
&KX Sy AEERAK IXEAK
PAKFEAH R2.7.29 R2.12.1 R2.7.17 R2.12.2
ZKIRCC) 16.8 14.7 19.0 13.4
BRI (mS/m) 17.0 16. 4 41.7 40.6
pH 6.5 6.6 AR A 1.7 7.6 GRSl
A==y ¥ 0% < 0.002 < 0.002 < 0.002 0. 002 < 0.002 < 0.002
VUGl R < 0.0002 (< 0.0002 |< 0.0002 0.0002 |< 0.0002 [< 0.0002
Il < 0.0002 (< 0.0002 [< 0.0002 0.0024 0. 0025 0. 0025
1,2->v/aax i < 0.0004 (< 0.0004 |< 0.0004 0.0004 |< 0.0004 [< 0.0004
1,1-Y7uaaxF1L < 0.002 < 0.002 < 0.002 0. 002 < 0.002 < 0.002
1,2-Y7uanxF1L < 0.004 < 0.004 < 0.004 0.043 0.037 0. 040
1,1,1-N)ruax4 < 0.0005 (< 0.0005 (< 0.0005 0.0005 [< 0.0005 [< 0.0005
1,1,2-N)rumx4 < 0.0006 |< 0.0006 (< 0.0006 0.0006 |< 0.0006 |< 0.0006
N ZooxFL < 0.001 < 0.001 < 0.001 0.020 0.020 0.020
VAN A=1= = P 0.0008 0. 0007 0. 0008 0.0005 [< 0.0005 [< 0.0005
T X HETA 4 S EHT = E S KET
i KA ff = —R 384 386
X 44 = K ithBEET R
HUP = 1030 0140
H A% 001000 000200
7 R (m) 13.0 P N:
&I EHE N
HEX Sy Z D — % Ex A
BAKFA A R2.8.19 R2.12.2 R2.8.7 R2.12.1
KIRCC) 20.5 15.0 17.0 15.0
BRARE R (mS/m) 43. 1 43.9 19.4 19.5
pH 7.1 7.0 AR A 6.8 1.2 AR A
A== Y 0 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
UeR e < 0.0002 (< 0.0002 |< 0.0002 (< 0.0002 |< 0.0002 [< 0.0002
Tl 0.063 0.28 0.17 < 0.0002 [< 0.0002 |< 0.0002
1,2-v/max iz < 0.0004 (< 0.0004 [< 0.0004 |< 0.0004 |< 0.0004 (< 0.0004
1,1-Y7uaaxF1L 0.002 0. 005 0.004 < 0.002 < 0.002 < 0.002
1,2-Y7uaaxF1L 0.13 0.34 0.24 < 0.004 < 0.004 < 0.004
1,1,1-FR)Jau=xz < 0.0005 (< 0.0005 |< 0.0005 (< 0.0005 |< 0.0005 [< 0.0005
1,1,2-F)Japa=xz < 0.0006 (< 0.0006 |< 0.0006 (< 0.0006 |< 0.0006 [< 0.0006
N Z7ooxFL 0. 001 < 0.001 0. 001 < 0.001 < 0.001 < 0.001
VAl A= 1= A < 0.0005 < 0.0005 |< 0.0005 (< 0.0005 |< 0.0005 [< 0.0005
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=20 7GR REIEARRIESR LA &R ESE 5 1) (BANZ : mg/L)

T XHTA 44 &R™ €RM

AR = —R 201 201

X 44 R AOET E)

X 5 0010 0010

HFH = 000800 000900

PR (m) 100.0 81.0

e R RFF RFF

FHIERIX 5y IXAK ATERK

PROKAEH H R2.7.1 R3.1.27 R2.7.1 R3.1.27

KIRCC) 16.7 14.3 18.3 13.8

HAUAE R (mS/m) 25 21 25 24

pH 6.7 6.7 AR A 6.7 6.8 GRSl
D g=i=38 0% < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
VUG bR < 0.0002 |< 0.0002 (< 0.0002 (< 0.0002 |< 0.0002 < 0.0002
1,2->7unx i < 0.0004 |< 0.0004 (< 0.0004 |[< 0.0004 [<0.0004 [<0.0004
1,1-Y/uaxFL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/uuxF L < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
LL,1-’)yunxziy < 0.0005 |< 0.0005 [<0.0005 |[< 0.0005 [<0.0005 [<0.0005
1,1,2-’)runxiy < 0.0006 |< 0.0006 |< 0.0006 [< 0.0006 [< 0.0006 [< 0.0006
KN)ZaaxFL < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
FhFraazFL 0. 0056 0.0048 0. 0052 0. 0039 0.0036 0.0038
T X HETA 4 &R &R

XA A= —R 201 201

Hit X 44 Fi] BA BT Fi] BA BT

X 5 0010 0010

e 001000 001100

FE R (m) 80.0 80.0

e R RFF RFF

JHIEIX 5y — %8R — % Ex

PRKAEH A R2.7.1 R3.1.27 R2.7.1 R3.1.27

KIRCC) 19.5 12.2 22.5 12.3

s (nS/m) 28 21 26 26

pH 6.9 7.0 AR A 6.9 7.1 AR A
Jranrgy < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
UGk R 3R < 0.0002 |< 0.0002 (< 0.0002 (< 0.0002 |< 0.0002 < 0.0002
1,2-Y7aaxiy < 0.0004 |< 0.0004 < 0.0004 |[< 0.0004 [<0.0004 [< 0.0004
1,1-Y/uaxFL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/uaxF L < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
LLI-NZuoxzg < 0.0005 |< 0.0005 [< 0.0005 |[< 0.0005 (< 0.0005 [< 0.0005
LL2-NZuoxzg < 0.0006 |< 0.0006 |< 0.0006 [< 0.0006 [< 0.0006 [< 0.0006
KN)ZooxFL < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
FhormaTFL 0.0030 0.0028 0. 0029 0.0038 0.0026 0.0032
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TEWT =27 A (i

(RN PR G &R T I 7 2)

(HAL : mg/L)

T XHTA 44 &R™ €RM

AR = —R 201 201

Hi1 X 44 e H Y& )11 BT

X 5 0010 0020

HFH = 002000 000400

PR (m) 150.0 7<BH

ARG AT RFF B8

&KX Sy AEERAK AEFEAK

PROKAEH H R2.7.1 R3.1.27 R2.7.2 R3.1.28

AKIE(C) 15.2 12.5 18.5 14.8

HAUAE R (mS/m) 24 24 23 21

pH 6.9 7.0 AR A 6.9 6.8 GRSl
DA=1=y Y 0 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
Pu Ak R 3R < 0.0002 |< 0.0002 (< 0.0002 (< 0.0002 |< 0.0002 < 0.0002
1,2->7unx i < 0.0004 |< 0.0004 (< 0.0004 |[< 0.0004 [<0.0004 [<0.0004
1,1-Y/uuxFL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/uuxF L < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
L,1,1-’)yuaxiy < 0.0005 |< 0.0005 [<0.0005 |[< 0.0005 [<0.0005 [< 0.0005
1,1,2-’)runxiy < 0.0006 |< 0.0006 < 0.0006 |[< 0.0006 [< 0.0006 [< 0.0006
[N =i=8 2 P 0. 001 0. 001 0. 001 < 0.001 < 0.001 < 0.001
FhFrmazFL 0. 0036 0. 0030 0.0033 0. 0081 0.0093 0.0087
T X HETA 4 &R &R

XA A= —R 201 201

Hit X 44 ZRHT =T

X 5 0020 0020

e 001000 002200

FE PR (m) 158.0 80.0

e R RFF RIP

JHIEIX 5y — %8R AFEAK

PRKAEH A R2.7.2 R3.1.28 R2.7.2 R3.1.28

AKIE(C) 24.5 13.7 20.5 13.8

s (nS/m) 18 18 26 25

pH 6.7 6.8 AR A 1.2 7.3 A A
JranRrgy < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
UGk 3R < 0.0002 |< 0.0002 (< 0.0002 (< 0.0002 |< 0.0002 < 0.0002
1,2-Y7aaxiy < 0.0004 |< 0.0004 < 0.0004 |[< 0.0004 [<0.0004 [< 0.0004
1,1-Y/uaxFL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/uuxF L < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
LLI-NZuoxzg < 0.0005 |< 0.0005 [<0.0005 |[< 0.0005 (< 0.0005 [< 0.0005
LL2-NZuoxzg < 0.0006 |< 0.0006 |< 0.0006 [< 0.0006 [< 0.0006 [< 0.0006
KNZooxFL < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
FhIrmaTFL 0.0083 0.0071 0.0077 0. 0058 0.0053 0. 0056
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EWE=2V AR (EIEEA R R S &R E i 4)3) (HAZ @ mg/L)
T XHTA 44 &R™ €RM
AR = —R 201 201
X 44 [ & il
X 5 0020 0020
HFH = 002400 003000
PR (m) 120.0 50.0
e R RFF RIFF
&KX Sy AEERAK EEAK
PROKAEH H R2.6.29 R3.1.25 R2.7.3 R3.1.29
AKIE(C) 22.0 12.3 19.0 14.2
HAUAE R (mS/m) 18 17 16 15
pH 7.0 7.0 AR A 7.1 7.0 GRSl
DA=1=y Y 0 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
Pu Ak R 3R < 0.0002 [< 0.0002 (< 0.0002 (< 0.0002 |< 0.0002 < 0.0002
1,2->7unx i < 0.0004 |< 0.0004 (< 0.0004 |[< 0.0004 [<0.0004 [<0.0004
1,1-Y/uuxFL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/uuxF L < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
L,1,1-’)yuaxiy < 0.0005 |< 0.0005 [<0.0005 |[< 0.0005 [<0.0005 [< 0.0005
1,1,2-’)runxiy < 0.0006 |< 0.0006 |< 0.0006 [< 0.0006 [< 0.0006 [< 0.0006
[N =i=8 2 P < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
FhFrmazFL 0.0013 0. 0008 0.0011 < 0.0005 (< 0.0005 [< 0.0005
T X HETA 4 &R &R
XA A= —R 201 201
Hit X 44 EJIIET =T
X 5 0020 0020
e 003200 003700
FE PR (m) 150.0 80.0
e R RFF RIFP
JHIEIX 5y AEFEAK AFEAK
PRKAEH A R2.6.29 R3.1.26 R2.7.3 R3.1.29
AKIE(C) 14.0 12.7 16.4 13.0
s (nS/m) 23 23 22 23
pH 6.8 7.1 AR A 6.8 7.0 A A
JranRrgy < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
UGk 3R < 0.0002 |< 0.0002 (< 0.0002 (< 0.0002 |< 0.0002 < 0.0002
1,2-Y7aaxiy < 0.0004 |< 0.0004 < 0.0004 |[< 0.0004 [<0.0004 [< 0.0004
1,1-Y/uaxFL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/uuxF L < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
LLI-NZuoxzg < 0.0005 |< 0.0005 [<0.0005 |[< 0.0005 (< 0.0005 [< 0.0005
LL2-NZuoxzg < 0.0006 |< 0.0006 |< 0.0006 [< 0.0006 [< 0.0006 [< 0.0006
KNZooxFL < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
FhIrmaTFL 0. 050 0. 045 0.048 0. 0056 0.0040 0.0048
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EW =2 AR D) (EFEEA R R S &R E i 54) (HAZ @ mg/L)
T XHTA 44 &R™ €RM
AR = —R 201 201
X 44 = Y )1 7 BT
X 5 0020 0020
HFH = 003900 004500
PR (m) 70.0 49.0
ARG AT RFF B8
&KX Sy — %8R EEAK
PROKAEH H R2.6.30 R3.1.26 R2.7.2 R3.1.28
AKIE(C) 15.3 14.5 19.4 13.7
HAUAE R (mS/m) 18 18 21 20
pH 7.0 7.1 AR A 6.6 6.5 GRSl
DA=1=y Y 0 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
Pu Ak R 3R < 0.0002 [< 0.0002 (< 0.0002 (< 0.0002 |< 0.0002 < 0.0002
1,2->7unx i < 0.0004 |< 0.0004 (< 0.0004 |[< 0.0004 [<0.0004 [<0.0004
1,1-Y/uuxFL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/uuxF L < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
L,1,1-’)yuaxiy < 0.0005 |< 0.0005 [<0.0005 |[< 0.0005 [<0.0005 [< 0.0005
1,1,2-’)runxiy < 0.0006 |< 0.0006 |< 0.0006 [< 0.0006 [< 0.0006 [< 0.0006
[N =i=8 2 P < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
FhFrmazFL 0.0010 0. 0006 0. 0008 0.011 0.011 0.011
T X HETA 4 &R &R
XA A= —R 201 201
Hit X 44 5T HT =T
X 5 0020 0020
e 004600 005000
FE PR (m) 101.0 85.0
e R RFF N
JHIEIX 5y AEFEAK AFEAK
PRKAEH A R2.7.2 R3.1.28 R2.7.2 R3.1.28
AKIE(C) 16. 2 12. 4 19.5 10.0
s (nS/m) 25 25 25 23
pH 7.5 7.5 AR A 6.9 6.9 A A
JranRrgy < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
UGk 3R < 0.0002 |< 0.0002 (< 0.0002 (< 0.0002 |< 0.0002 < 0.0002
1,2-Y7aaxiy < 0.0004 |< 0.0004 < 0.0004 |[< 0.0004 [<0.0004 [< 0.0004
1,1-Y/uaxFL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/uuxF L < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
LLI-NZuoxzg < 0.0005 |< 0.0005 [<0.0005 |[< 0.0005 (< 0.0005 [< 0.0005
LL2-NZuoxzg < 0.0006 |< 0.0006 |< 0.0006 [< 0.0006 [< 0.0006 [< 0.0006
KNZooxFL < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
FhIrmaTFL 0.0027 0.0027 0. 0027 0. 0053 0.0053 0. 0053
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EE=20 7 AR REIEARRIE S LA &R T E S 5)5) (BANZ : mg/L)

T XHTA 44 &R™ €RM

AR = —R 201 201

Hi1 X 44 &L % B A HT

X 5 0020 0020

HFH = 005100 006200

PR (m) 90.0 7<BH

ARG AT RFF B8

&KX Sy AEERAK — %8R

PROKAEH H R2.7.2 R3.1.28 R2.7.3 R3.1.29

AKIE(C) 18.0 10.4 18.0 14.7

HAUAE R (mS/m) 23 21 24 23

pH 7.4 7.3 AR A 6.7 6.6 GRSl
DA=1=y Y 0 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
Pu Ak R 3R < 0.0002 [< 0.0002 (< 0.0002 (< 0.0002 |< 0.0002 < 0.0002
1,2->7unx i < 0.0004 |< 0.0004 (< 0.0004 |[< 0.0004 [<0.0004 [<0.0004
1,1-Y/uuxFL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/uuxF L < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
L,1,1-’)yuaxiy < 0.0005 |< 0.0005 [<0.0005 |[< 0.0005 [<0.0005 [< 0.0005
1,1,2-’)runxiy < 0.0006 |< 0.0006 |< 0.0006 [< 0.0006 [< 0.0006 [< 0.0006
[N =i=8 2 P < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
FhFrmazFL 0. 0040 0.0023 0. 0032 0.0033 0. 0031 0.0032
T X HETA 4 &R &R

XA A= —R 201 201

X 44 T HEF

X 5 0020 0020

e 007200 007500

FE PR (m) 80.0 60.0

e R RFF RFHP

JHIEIX 5y AEFEAK AFEAK

PRKAEH A R2.7.3 R3.1.29 R2.7.3 R3.1.29

AKIE(C) 22.5 15.0 20.0 1.5

s (nS/m) 28 21 36 34

pH 7.4 7.1 AR A 1.2 7.3 A A
JranRrgy < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
UGk 3R < 0.0002 |< 0.0002 (< 0.0002 (< 0.0002 |< 0.0002 < 0.0002
1,2-Y7aaxiy < 0.0004 |< 0.0004 < 0.0004 |[< 0.0004 [<0.0004 [< 0.0004
1,1-Y/uaxFL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/uuxF L < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
LLI-NZuoxzg < 0.0005 |< 0.0005 [<0.0005 |[< 0.0005 (< 0.0005 [< 0.0005
LL2-NZuoxzg < 0.0006 |< 0.0006 |< 0.0006 [< 0.0006 [< 0.0006 [< 0.0006
KNZooxFL < 0.001 < 0.001 < 0.001 0. 001 0. 001 0. 001
FhIrmaTFL 0.0023 0.0029 0. 0026 0.0014 0. 0009 0.0012
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TEWT =27 A (i

B

(RN PR G IR I 57 6)

(HAL : mg/L)

T XHTA 44 &R™ €RM

AR = —R 201 201

X 44 BE ER 78 A HT

X 5 0020 0020

HFH = 007600 007700

PR (m) 150.0 100.0

e R RFF RIFF

&KX Sy AEERAK EEAK

PROKAEH H R2.6.29 R3.1.25 R2.6.30 R3.1.26

AKIE(C) 17.9 13.4 16.0 7.8

HAUAE R (mS/m) 20 19 16 17

pH 7.1 7.0 AR A 7.1 1.2 GRSl
DA=1=y Y 0 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
Pu Ak R 3R < 0.0002 [< 0.0002 (< 0.0002 (< 0.0002 |< 0.0002 < 0.0002
1,2->7unx i < 0.0004 |< 0.0004 (< 0.0004 |[< 0.0004 [<0.0004 [<0.0004
1,1-Y/uuxFL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/uuxF L < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
L,1,1-’)yuaxiy < 0.0005 |< 0.0005 [<0.0005 |[< 0.0005 [<0.0005 [< 0.0005
1,1,2-’)runxiy < 0.0006 |< 0.0006 |< 0.0006 [< 0.0006 [< 0.0006 [< 0.0006
[N =i=8 2 P < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
FhFrmazFL 0.024 0.027 0.026 0.0007 (< 0.0005 0. 0006
T X HETA 4 &R &R

XA A= —R 201 201

Hit X 44 78 R ETHT &)l

X 5 0030 0030

e 000100 000500

FE PR (m) 80.0 75.0

e R RFF RFP

JHIEIX 5y AEEAK AFERAK

PRKAEH A R2.6.30 R3.1.26 R2.6.30 R3.1.26

AKIE(C) 23.8 6.8 24.8 1.5

s (nS/m) 21 22 20 20

pH 6.3 6.5 AR A 6.4 6.5 A A
JranRrgy < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
UGk 3R < 0.0002 |< 0.0002 (< 0.0002 (< 0.0002 |< 0.0002 < 0.0002
1,2-Y7aaxiy < 0.0004 |< 0.0004 < 0.0004 |[< 0.0004 [<0.0004 [< 0.0004
1,1-Y/uaxFL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/uuxF L < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
LLI-NZuoxzg < 0.0005 |< 0.0005 [<0.0005 |[< 0.0005 (< 0.0005 [< 0.0005
LL2-NZuoxzg < 0.0006 |< 0.0006 |< 0.0006 [< 0.0006 [< 0.0006 [< 0.0006
KNZooxFL < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
FhIrmaTFL 0.0036 0.0032 0. 0034 0. 0009 0. 0008 0. 0009
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TEWT =27 A (i

B

(RN PR &R IR T)

(HAL : mg/L)

T XHTA 44 &R™ €RM

AR = —R 201 201

X 44 % % H #HT

X 5 0030 0030

HFH = 000800 002200

PR (m) 60.0 79.0

e R RFF RFF

&KX Sy — %8R EEAK

PROKAEH H R2.6.30 R3.1.26 R2.7.1 R3.1.27

AKIE(C) 17.3 15.3 24.8 8.7

HAUAE R (mS/m) 29 30 17 17

pH 6.4 6.5 AR A 6.4 6.5 GRSl
DA=1=y Y 0 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
Pu Ak R 3R < 0.0002 [< 0.0002 (< 0.0002 (< 0.0002 |< 0.0002 < 0.0002
1,2->7unx i < 0.0004 |< 0.0004 (< 0.0004 |[< 0.0004 [<0.0004 [<0.0004
1,1-Y/uuxFL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/uuxF L < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
L,1,1-’)yuaxiy < 0.0005 |< 0.0005 [<0.0005 |[< 0.0005 [<0.0005 [< 0.0005
1,1,2-’)runxiy < 0.0006 |< 0.0006 |< 0.0006 [< 0.0006 [< 0.0006 [< 0.0006
[N =i=8 2 P < 0.001 < 0.001 < 0.001 0. 001 < 0.001 0. 001
FhFrmazFL 0.0019 0.0016 0.0018 0. 0044 0.0033 0.0039
T X HETA 4 &R &R

XA A= —R 201 201

X 44 = R ET

X 5 0030 0040

e 002700 000600

P TR EE (m) ~BH 50.0

e R A N

JHIEIX 5y AEFEAK — % Ex A

PRKAEH A R2.7.1 R3.1.27 R2.6.29 R3.1.25

AKIE(C) 21.2 12.8 17.3 14.0

s (nS/m) 22 21 14 15

pH 6.5 6.5 AR A 6.7 6.8 A A
JranRrgy < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
UGk 3R < 0.0002 |< 0.0002 (< 0.0002 (< 0.0002 |< 0.0002 < 0.0002
1,2-Y7aaxiy < 0.0004 |< 0.0004 < 0.0004 |[< 0.0004 [<0.0004 [< 0.0004
1,1-Y/uaxFL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/uuxF L < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
LLI-NZuoxzg < 0.0005 |< 0.0005 [<0.0005 |[< 0.0005 (< 0.0005 [< 0.0005
LL2-NZuoxzg < 0.0006 |< 0.0006 |< 0.0006 [< 0.0006 [< 0.0006 [< 0.0006
KNZooxFL < 0.001 0. 001 0. 001 < 0.001 < 0.001 < 0.001
FhIrmaTFL 0. 0056 0. 0050 0. 0053 0.0012 0.0014 0.0013
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EME=2V 7 AR GERME AR RE G &R FE i 578) (HAZ @ mg/L)
T XHTA 44 &R™ €RM
AR = —R 201 201
Hi1 X 44 Al TRRETER
X 5 0040 0050
H A% 004000 000100
PR (m) 100.0 70.0
e R RFF RIFF
FHIEIX Sy A ERK TERK
PROKAEH H R2.6.30 R3.1.29 R2.6.29 R3.1.25
KIRCC) 18.9 11.5 15.5 14.0
HRRE S (mS/m) 19 20 25 24
pH 7.1 7.8 AR A 6.8 6.9 GRSl
D g=i=3 8 8% < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
DU bR < 0.0002 |< 0.0002 (< 0.0002 (< 0.0002 |< 0.0002 < 0.0002
1,2->7unx i < 0.0004 |< 0.0004 (< 0.0004 |[< 0.0004 [<0.0004 [<0.0004
1,1-YZ7unxzFlL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y7unxzFlL < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
L,1,1-’)yuaxiy < 0.0005 |< 0.0005 [<0.0005 |[< 0.0005 [<0.0005 [< 0.0005
1,1,2-’)runxiy < 0.0006 |< 0.0006 |< 0.0006 [< 0.0006 [< 0.0006 [< 0.0006
[N =i=8 2 P 0. 001 < 0.001 0. 001 0. 001 0. 001 0. 001
FhIr/auTFL < 0.0005 |< 0.0005 |< 0.0005 0.0005 < 0.0005 (< 0.0005
T X HETA 4 &R &R
XA A= —R 201 201
X 44 B SFHT TRRBTR
X 5 0050 0050
H A% 001000 001400
FE PR (m) 100.0 80.0
e R RFF RFF
FHIRX Sy TXAK Z D
PRKAEH A R2.6.29 R3.1.25 R2.6.29 R3.1.25
KIRCC) 15.0 13.9 16.8 12.5
XU (mS/m) 25 24 23 22
pH 6.7 6.7 AR A 6.5 6.5 AR A
4=1=33 04 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
UGk 3R < 0.0002 |< 0.0002 (< 0.0002 (< 0.0002 |< 0.0002 < 0.0002
1,2-Y7aaxiy < 0.0004 |< 0.0004 < 0.0004 |[< 0.0004 [<0.0004 [< 0.0004
L1-YZunxzFlLy < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y7unxTFlL < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
LLI-NZuoxzg < 0.0005 |< 0.0005 [<0.0005 |[< 0.0005 (< 0.0005 [< 0.0005
LL2-NZuoxzg < 0.0006 |< 0.0006 |< 0.0006 [< 0.0006 [< 0.0006 [< 0.0006
KNZooxFL 0. 001 0. 001 0. 001 0. 001 0. 001 0. 001
FhIr/auTFL < 0.0005 |< 0.0005 |< 0.0005 0.0005 < 0.0005 (< 0.0005

- 210 -




EWE=2U AR (EIEEA R R S &R E i 4579) (BAZ : mg/L)
T XHTA 44 &R™ €RM
AR = —R 201 201
Hi1 X4 = HNET | AT
X 5 0070 0070
HFH = 001900 002300
PR (m) ~BH 65.0
Be R B RIFF
&KX Sy AEERAK — %8R
PROKAEH H R2.7.3 R3.1.29 R2.6.30 R3.1.26
AKIE(C) 24.5 13.5 16.8 14.2
HAUAE R (mS/m) 47 24 24 25
pH 6.8 6.8 AR A 7.0 7.0 GRSl
D4=1=y Y 8 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
Uk R 3 < 0.0002 |< 0.0002 (< 0.0002 (< 0.0002 |< 0.0002 < 0.0002
1,2->runx i < 0.0004 |< 0.0004 (< 0.0004 |[< 0.0004 [<0.0004 [<0.0004
1,1-Y/uuxFL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/uuxF L < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
L1L,1-’)yaaxiy < 0.0005 |< 0.0005 [<0.0005 |[< 0.0005 [<0.0005 [< 0.0005
1,1,2-’)runxiys < 0.0006 |< 0.0006 < 0.0006 |[< 0.0006 [< 0.0006 [< 0.0006
KN ZaaxFL < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
FhFrmazFL < 0.0005 0. 0006 0. 0006 0. 0020 0.0018 0.0019
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TEWIE =5V 7 J A (ko B B0

(B3 a1 R 57 1)

(HAT :mg/L)

117 XHT A 4, INRTH INATH

HIPXETff 2 —R 203 203

i E5L) 4 BAHT

X 0050 0410

A% 000100 000100
FEFTREE(m) 70.0 40.0

& ORI RIHF RIF

HRIX 5y TERAK Z D

PR H R2.8.25 | R2.12. 21 R2.9.1 R2.12.17

KIR(C) 18.9 18.4 18.4 17.0

SRR (mS/m) 61.0 56. 1 293 374

pH 1.1 1.5 | AERFME 6.7 1.2 | FRPEEE
== 0.033 0.034 0.034 0.019 0.013 0.016
17 XET A4, INRTH INRTH

HIXEff 2 —R 203 203

XA S iIHT L /NRET

X 0490 0600

A% 001300 000100

FEFTRE (m) P N: TR

& ORI EN) PN

FIEIX Sy Z D Z D

PR A R2.8.25 | R2.12. 21 R2.8.25 R3.1.12

KR (C) 19.7 9.2 19.3 14.0

BRI (mS/m) 25.4 25.7 64.1 58.2

pH 6.5 6.6 | AFHTIME 1.2 1.2 | FHE
== 0.011 0.011 0.011 0.032 0.024 0.028
7 XCHT A4, wWeTh WeTh

HIXETff 21— 204 204

HIIX A, & X HT FIRITHET & & 15

X 0230 1190

HEE S 000100 000100

FEF TR (m) 30.0 1.0

I A ;) EHF

FHIERIX 5y —fiRERA — KA

PRAKAEA H R2.8.6 R2.12. 14 R2.8.6 R2.12.14

K (C) 20.0 11.2 18.0 10.2

B A5UnE = (mS/m) 22.2 23.5 16.3 18.8

pH 8.2 8.3 | FMIVHE 6.5 1.5 | FHEE
== 0.009 0.008 0.009 0.008 0. 007 0.008
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TEWIE =5V 7 J A (ko B B0

(B3 )1 R 572)

(HAT :mg/L)

i XHT A1 4, mEm TIWETH

T XETAf = —R 206 207

Hi1 X 4 S HT EEHT

X 5 0620 0050

P 000100 000600

FEFTRE (m) 22.0 F ;]

- EHP EHP

&K 5y ATERK Z Dt

PKAEH R R2.8.7 R2.12.10 R2.8.6 R2.12.1

KIRCC) 18.7 17.4 16.0 13.8

SRR (mS/m) 36.8 37.8 30.3 29.9

pH 7.3 1.4 | AERFE 8.4 8.4  |fEMITAME
[==3 0.012 0.011 0.012 0.013 0.014 0.014
i XHT A1 4, TV VT

HXETAf = —R 207 207

HuX A4, ATHET KJIIET

X 0130 0250

i el 000100 000700

FEFTRE (m) 60. 0 PN

i it FER

FHEIX 5y TEAK ATERK
BKAFEH B R2.8.6 R2.12.1 R2.8.6 R2.12.1

KR (C) 18.0 15.0 22.0 10.5

AR (mS/m) 26. 6 28.4 31.3 30. 1

pH 6.9 1.4 | FEEE 8.2 8.5 |FHFHME
[==3 0.024 0.034 0.029 0.028 0.030 0. 029
i XHT#14, T G
HIXETff 21— 207 211

Hi1 X A4 JFIWEHT Im):y

X 0270 0080

JEEE S 000100 000200

FEF TR (m) 50.0 70.0

B RHT PN P N::|

XSy ATERK ATERK
ERKEH H R2.8.6 R2.12.1 R2.8.12 | R2.12.15

K (C) 18.5 11.0 17.5 15.3

B ARURE R (mS/m) 44.9 44 4 70.8 12.5

pH 8.3 8.5 |FHFHE 8.6 8.9 | AEMIVHME
[==3 0.011 0.011 0.011 0. 021 0. 021 0. 021
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TEWIE =5V 7 J A (ko B B0

(B3 )1 R 573)

(HAT :mg/L)

i X 44 CEE T EES

X ET A2 —R 211 211

X 4 KR EFHT KR EFHT

R X 0260 0260

HAES 000200 000400

H R (m) 30.0 70.0

RS oSl EHF N

& X5y ATERAK ATERAK

BAKFEA H R2.8. 11 R2.12.15 R2.8. 11 R2.12.15

7KIE(C) 18.0 13.5 19.0 15.9

ERARE R (mS/m) 27.3 30.7 29.6 31.9

pH 6.7 6.9 | ERHEE 6.7 6.8 |4EREEIE
=== 0.026 0.027 0.027 0.010 0.027 0.019
T T 44 CEE T ERET

X E A2 —R 211 361

Hi X 4 INREFHT Pk

M X 2= 0460 0190

HAES 000100 000100

FH R (m) 80.0 180.0

ARSI N FHF

R 5y A TERAK A TFERAK

BOKFA H R2.8. 11 R2.12.15 R2.7.17 R2.12.2

ZKIRCC) 19.1 8.2 19.5 20.3

BERUAEZ (mS/m) 33.2 35.6 32.3 36.7

pH 6.7 6.9 | FERHEHE 1.5 1.7 | FREESE
=== 0.017 0.018 0.018 0.067 0.074 0.071
T KT 44 PR BT PR BT

M XE A2 —R 365 365

Hi X 4 b i} b i)

X 2= 0070 0070

HPEES 000100 000200

F PR (m) 4.0 200.0

e RHF EHFE N

HI&EX Sy ATERK TEAK
ERKAEH B R2.7. 21 R2.12.2 R2.7. 21 R2.12.2

ZKIRCC) 19.2 8.5 22.5 21.2

BRULE 2 (mS/m) 34.4 51.0 29.2 28.0

pH 7.2 1.3 | R 7.2 1.7 | EREEE
=== 0.028 0.063 0. 046 0.017 0.016 0.017
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TEWIE =5V 7 J A (ko B B0

(B3 )1 R 774)

(HAT :mg/L)

i X 44 PR BT EEHE

X ET A2 —R 365 384

HX 4 By E BRI

R X 0090 1040

HAES 000100 000200

F R (m) 7~8 4.0

RS oSl EHF N

& X5y ATERAK Z Db

BAKFEA H R2.7.21 R2.12.2 R2.8.19 R2.12.2

7KIE(C) 18.9 12.5 19.8 15.0

ERARE R (mS/m) 19.7 18.4 50. 1 49.8

pH 1.4 1.5 | EEREEE 7.4 7.9 | 4EREEE
=== 0.018 0. 026 0.022 0.018 0.016 0.017
T X ET R 44 = E EKHET 737K ET

X E A2 —R 386 461

Hi X 4 M i

M X 2= 0200 0040

HAES 002400 000100
FEFGREE(m) N 30.0

ARSI N FHF

R 5y ATFERAK A TFERAK

BOKFA H R2.8.7 R2.12.1 R2.8.6 R2.12.14

ZKIRCC) 16.0 14.8 15.5 13.1

BERUAEZ (mS/m) 19.2 22.8 23.7 24.8

pH 6.6 6.7 | FREEE 7.2 1.4 | FEREEE
=== < 0.005 < 0.005 < 0.005 0.013 0.014 0.014
T XHT AT 4 7K HET 737K ET

M XE A2 —R 461 461

HiX 4 &y B &y E

X 2= 0140 0140

HPEES 000100 000400

F PR (m) 65 60.0

e RHF FHFE EHF

REX 5y ATFERK A FERAK

ERKAEH B R2.8.6 R2.12.14 R2.8.6 R2.12.14

ZKIRCC) 15.9 14.6 15.2 13.9

BRULE 2 (mS/m) 14. 4 15.2 15.1 16. 2

pH 7.0 1.3 | R 6.9 1.2 | EREEE
=== 0.026 0.025 0.026 0.016 0.015 0.016
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EHE =2V 7 AR R (638 ) 1R 52 0475) (B2 :mg/L)

1 XHT AT 4 7V IKHET REZHT
X ET A2 —R 461 463
X 44 tiE FHELD
R X 0150 0010
HEE 000100 000600
H R (m) 5.0 P N:
R EHPF N
M&X 5y HTERAK ATERAK
BAKFEA H R2.8.6 | R2.12.14 R2.7.30 | R2.12.14
ZKIE(C) 14.5 14.0 17.2 15.5
BERUAEZ (mS/m) 14. 3 15.4 24.6 26.9
pH 7.1 1.4 (ERESE 9.4 9.3 M
=== 0.012 0.021 0.017 0.013 0.013 0.013
T XHT AT 4 REZET

i XE = —R 463

X 44 LN 4

X5 0240

HEE 000200

FFEREE (m) 10.0

T RH A EHP

FHI&IX 5y HTERAK

BOKEH H R2.7.30 | R2.12.14

KIRCC) 17.0 16.5

BERIREHR (mS/m) 31.0 33.0

pH 1.3 7.5 R fA

o= 0.011 0.010 0.011
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E =20 7 A Gk B )

(IR M 28 38 M OVHELAFERTESE 54 -

£ B SEhi 57)

(HAT :mg/L)

1 XHT AT 4 INATH INATH
X ET A2 —R 203 203
X 44 Y& A HT [a] A< 7 BT
R X 0160 0510
HEE 000500 000100
FFREE(m) T~H 4.0
R T~H EHF
M&X 5y Z D1 TEAK
BAKFEA H R2.8.25 | R2.12. 21 R2.8.25 | R2.12. 21
ZKIE(C) 17.0 15.2 18.0 17.0
BERUAEZ (mS/m) 19.9 15.1 25.6 19.1
pH 4.7 5.1 R[5 fE 6.2 6.6 FEREAE
THERME 2R 58 S OVl A et 22 5 11 1.4 9.2 7.9 3.6 5.8
T XHT AT 4 INRTH

i XE = —R 203

Hi1 X A4 [a] A< 7 BT

X5 0510

HEE 000300

FFEREE (m) T~

T RH A T~H

FHI&IX 5y ATERAK

BOKEH H R2.8.25 | R3.1.19

KIRCC) 19.8 15.0

BERIREHR (mS/m) 13.1 38.2

pH 6.5 6.1 M E

TEmRPEZE 3R R OV AR 2 3R 3.8 24 14
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EME=2V 7 ARG (TyF A RIS 1) (FAAL :mg/L)
7 XA 4 mEM mEM

i XHT A= — R 206 206

Hu XA, AnjsEET {F RHT

H X 0370 0500

P 000200 000200

FEFTRE (m) 5.0 P ;]

- RIET EHP FER

&K 5y Z Dt ATERK

PR B R2.8.20 | R2.12.10 R2.8.20 | R2.12.10

KIR(C) 18.5 15.5 19.0 15.0

FEXUBE =R (mS/m) 74.3 66. 5 30. 1 30. 4

pH 7.5 1.8 | AERFRME 7.8 8.3 |fEMITHME
73 0.98 0.93 0. 96 1.1 1.0 1.1

17 PCHTAS 44 mEM mEM

HIXEff 2 —R 206 206

Hi X A4 1 RLHT {E BT

Hi X 5 0500 0500

A% 000300 000400

FEF TR (m) 10.0 N:L

i i FER

FHEIX 5y ATERK AERK

BKAFEH B R2.8.20 | R2.12.10 R2.8.20 | R2.12.10

KR (C) 21.5 9.4 20.2 17.0

AR (mS/m) 29.5 29.8 34.4 34.5

pH 7.5 1.9 | FHEEEE 1.7 8.1 |EMIFHME
TR 1.1 0.89 1.0 1.2 1.0 1.1

7 PCHTAS 44 mEm mEm

HIXETff 21— 206 206

Hi X 4, {E BT E BT

Hi X 0500 0500

HEE S 000700 000800

FEF TR (m) 10.0 50.0

BRI B3 i

XSy ATERK AERK

ERKEH H R2.8.20 | R2.12.10 R2.8.20 | R2.12.10

K (C) 31.0 10. 4 22.4 10.8

B ARURE R (mS/m) 24.3 21.3 25.6 26.0

pH 8.6 8.3 |FHFHMH 7.8 8.1 | AEMV-HME
T 0.68 0. 31 0.50 0.88 0. 66 0.77
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EHE =2V 7 ARG LD (v ) IRER572)

1 XHT AT 4 AEET

X ET A2 —R 211

X 44 Im:y)

R X 0080

HAES 000200

H R (m) 70.0

R T~H

M&X 5y ATERAK

BAKFEA H R2.8.12 | R2.12.15

ZKIE(C) 17.5 15.3

HERIRER (mS/m) 70.8 72.5

pH 8.6 8.9 R[5 fE
TV 0.76 0.78 0.77
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(FELAZ i mg/L)



TE T =2V 7 A Rk

B

NSRS )

(FELAZ - mg/L)

1 XHT AT 4 INATH INATH
X ET A2 —R 203 203
X 44 F BAHET FHET
R X 0410 0700
HEE 000100 000400
FHFEREE (m) 40 80
R RHPF RFHF
M&X 5y Z D1 Z D1t
BAKFEA H R2.9.1 R2.12.17 R2.9.1 R2.12.17
ZKIE(C) 18.4 17.0 19.2 8.6
BERUAEZ (mS/m) 293 374 152 198

pH 6.7 7.2 AR ST 6.6 6.7 FEREAE
NS 2.2 3.1 2.1 0.7 1.4 1.1
T XHT AT 4 AEZSHT

i XE = —R 463

X 44 N4

X5 0240

HEE 000700

FFEREE (m) T~

T RH A EHF

FHI&IX 5y ATERAK

BOKEH H R2.7.30 | R2.12.14

KIRCC) 16. 8 14.0

BERIREHR (mS/m) 130 133

pH 9.1 9.1 M

Ny 1.1 1.1 1.1
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